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Test One

Paper One iR&E—
(90 minutes)

Part | Dialogue Communication (10 minutes, 10 points, 1 for each)
Section A  Dialogue Completion

Directions: Inthis section, youwill read 5 short incomplete dialogues between two speak-
ers, each followed by 4 choices marked A, B, Cand D. Choose the answer that best suits

the situation to complete the dialogue by marking the corresponding letter _'wii‘h a single

line across the square brackets on your machine-scoring ANSWER SHEET.

1

Br OOoOREpREFP OOFERE> DOX»PRP

: Sunshine Motel. May I help you?

All right. My name is David Jones and my room number is 103.
Yes. We need a double room for this weekend.

Thank you. I'd like to make a long distance call to New Zealand.
Sorry. I don’t think you can help us. Thank you anyway.

. May I see your driving license and vehicle registration card, please?. ..

OK. But I was driving at 60 miles per hour.
Sorry, please don’t write me a ticket.

Sure. Did I do anything wrong?

Yes. But I don’t think I'm a bad driver.

. Could you please make up this preseription for me?

No. You need to see a doctor first.

Yes. You can buy the medicine from the drugstore at the corner..
Well. It is prescribed clearly in that book.

Certainly. I’ll do it for you right away.

i ey

. Do you know that the hot dog did not originate in the United States, but in Germany?



A. Yes. They even have something similar to it in Finland. It is made out of reindeer
meat,

B. Yes. The hot dog in United States was originally transferred from Germany.

C. Yes. The hot dog in Germany was the original one,

D. Yes. People in Germany don’t quite like hot dogs as people in United States.

5. A: How was the job interview? I think you make a good journalist.

B:

A. Well. My application was turned down. They were looking for people with experi-
ence.

B. Well. I gave it up as I was a journalist.

C. Well. The interview is OK, but I want to be a journalist.

D. Well. The people interviewed were not very cooperative,

Section B Dialogue Comprehension

Directions: In this section, you will read 5 short conversations between a man and ‘a
woman. At the end of each conversation there is a question followed by 4 choices marked
A, B, Cand D. Choose the best answer to the question from the 4 choices given by mark-
ing the corresponding letter with a single line across the square brackets on your machine-

scoring ANSWER SHEET.

6. Man: I had a quarrel with Mary. She said that she hated me coming back home late.
Woman: You need to put your cards on the table. v
Question: What does the woman mean?
A. The man should go home earlier.
B. The man shouldn’t quarrel with Mary.
C. The man shouldn’t play cards in the evening.
D. The man should talk about the problem openly.

7. Man: Did you tell Sally that she failed the exam again? '
Woman: No. I didn’t have the heart to tell her.
Question: What does the woman mean?
A. She thinks the topic is too serious for her.
B. She doesn’t like to have a heart to heart talk with Sally.
C. She thinks the news is too bad for Sally.
D. She dares not to tell Sally the bad news.

8. Man: How did your interview go?
Woman I couldn’t feel better about it.
Question: What does the woman mean?

A. The woman is sick.

o2¢



10.

B. The woman is confident.
C. The woman is worried about her interview.

D. The woman is feeling better.

. Man: Henry says Professor Bush is very strict.

Woman: I used to believe that, too.

Question;: What does the woman mean?

A. She thinks Professor Bush is strict with himself.
B. She doesn’t think Professor Bush is strict.

C. She agrees with Henry.

D. She believes Henry is right.

Man: Do you have Tom’s telephone number in New York?

Woman: Not yet. But he promised to send it to me as soon as he had a phone in-
stalled.

Question; What can you learn from the conversation?

A. The man has lost Tom’s phone number.

B. The woman wants to install a phone.

C. Tom will keep his promise.

D. Tom hasn’t sent the woman his phone number yet.

Part | Vocabulary (10 minutes, 10 points, 0.5 for each)

Section A

Directions: In this section, there are 10 sentences, each with one word or phrase under-
lined. Choose the one from the four choices marked A, B, C and D that best keeps the

meaning of the underlined part. Then mark the corresponding letter with a single line

across the square brackets on your machine-scoring ANSWER SHEET.

11.

12.

13.

14.

In spite of circumstantial evidence pointing to his guilt, the accused asserted that he
was innocent.

A. appealed B. maintained C. confessed D. denounced . .

If they had had a flash-bulb accessory, they would have taken pictures at the candle-
light party.

A. attachment B. commitment C. assessment D. ornament

The solution Professor Yang hit on is not necessarily appropriate to my knotty
problem..

A. appreciable B. favorable C. accessible D. applicable

The company specializes in fabricating parts for do-it-yourself furniture-making kits.

A. fracturing B. manufacturing C. providing D. regulating

« 3.



15. The manager rebuked Tom, whose clumsiness was responsible for the complete break-
down of operations in his department.

A. comforted B. assaulted C. reproached D. enforced

16. According to the latest demographic survey the population of France remains stationary.
A. perpetual B. unchanged C. permanent D. parallel

17. He enjoys great prestige both at home and abroad for he has won grand prizes in some

international contests.

A. privilege B. appraisal C. reputation D. priority

18. Most policemen consider it prudent to wear bullet-proof vest when they are on the
beat.
A. conspicuous  B. considerate C. coward D. cautious

19. The escaped convict kidnapped a 3-year-old boy and then ruthlessly suffocz;ted him.
A. infamously B. mercilessly C. indignantly D. terrifically

20. Little Mary hasn’t really answered the question, for what she said is not pertinent.
A. proper B. relevant C. profound D. reflective

Section B
Directions: In this section, there are 10 incomplete sentences. For each sentence there are 4
choices marked A, B, C and D. Choose the one that best completes the sentence. Then

mark the corresponding letter with a single line across the square brackets on your ma-
chine-scoring ANSWER SHEET.

21. To make the house more comfortable, we decided to have central heating

A. installed B. established C. settled D. built
22. Classroom routines are an important factor in keeping children constructively busy in
encouraging self-discipline, and in learning,
A. fabricating B. fascinating C. facilitating D. lubricating
23. Businessmen quite generally look upon rising prices as a of prosperity:
A, symptom B. preparation C. precaution D. symposium

24. By manipulating those mathematical terms according to the relevant conventions, new

and sometimes unexpected relations are .
A. appeared B. reproduced C. revealed D. recognized

25. Since everyone would like to find an apartment the university, there are very
few vacancies in the area.
A. on top of B. ahead of C. prior to D. next to

26. Although many people have doubts about new technology, it will probably

040



benefit mankind.

A. in the long run B. in the event C. in good time D. as a result

27. The car , but we managed to get there in time for the speeches,
A. broke down  B. broke up C. laid down D. laid out

28. To understand the current situation, which is by rapid increases in popula-

tion, it is necessary to understand the history of population trends.

A. charged B. characterized C. dominated D, discontented
29. The employment situation has led many Britons to to Australia.
A. migrate B. emigrate C. immigrate D. deport

30. David Moorcroft is the current holder of world 5, 000 meters record. But there is no
that he will win in the Olympic Games.

A. necessity B. obligation C. guarantee D. promise

Part [ Reading Comprehension (50 minutes, 25 points, 1 for each)

Directions: There are 5 passages in this part. Each passage is followed by some questions
or un finished statements. For each of them there are 4 choices marked A, B, Cand D.
Choose the best one and mark the corresponding letter with a single line across the square

brackets on your machine-scoring ANSWER SHEET.

Passage One

Judging from recent surveys, most experts in sleep behavior agree that there is virtu-
ally an epidemic (Jif79%) of sleepiness in the nation. “I can’t think of a single study that
hasn’t found Americans getting less sleep than they ought to,” says Dr. David. Even peo-
ple who think they are sleeping enough would probably be better off with more rest.

The beginning of our sleep-deficit (BEBRA ) crisis can be traced to the invention of
the light bulb a century ago. From diary entries and other personal accounts from the 18th
and 19th centuries, sleep scientists have reached the conclusion that the average person
used to sleep about 9. 5 hours a night. “The best sleep habits once were forced on us,
when we had nothing to do in the evening down on the farm, and it - was dark. ” By the
1950s and 1960s, that sleep schedule had been reduced dramatically to between 7. 5 and
eight hours, and most people had to wake to an alarm clock. “People cheat on their sleep,
and they don’t even realize they’re doing it,” says Dr. David. “They think they're OK be-
cause they can get by on 6. 5 hours, when they really need 7. 5, eight or even more to feel
ideally vigorous. ”

Perhaps the most merciless robber of sleep, researchers say, is the complexity of the
day. Whenever pressures from work, family, friends and community mount many people

consider sleep the least expensive item on his program. “In our society, you're considered
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dynamic if you say you only need 5. 5 hours’ sleep. If you've got to get 8. 5 hours, people
think you lack drive and ambition. ”

To determine the consequences of sleep deficit researchers have put subjects through a

set of psychological and performance tests requiring them, for instance, to add columns of

numbers or recall a passage read to them only minutes earlier. “We’ve found that if you're

in sleep deficit, performance suffers,” says Dr. David. “Short-term memory is weakened,

as are abilities to make decisions and to concentrate. ”

31.

32.

33.

3.

3s.

People in the 18th and 19th centuries used to sleep about 9. 5 hours a night because

they had
A. no drive and ambition B. no electric lighting
C. the best sleep habits D. nothing to do in the evening

According to David, Americans

A. are ideally vigorous even under the pressure of life
B. often neglect the consequences of sleep deficit

C. do not know how to relax themselves properly

D. can get by on 6. 5 hours of sleep

Many Americans believe that

A. sleep is the first thing that can be sacrificed when one is busy

B. they need more sleep to cope with the complexities of everyday life
C. to sleep is something one can do at any time of the day

D. enough sleep promotes people’s drive and ambition

The word “subjects” (Paragraph 4, Line 1) refers to

A. the performance tests used in the study of sleep deficit
B. special branches of knowledge that are being studied
C. people whose behavior or reactions are being studied

D. the psychological consequences of sleep deficit

Tt can be concluded from the passage that one should sleep as many hours as necessary
to

A. improve one’s memory dramatically

B. be considered dynamic by other people

C. maintain one’s daily schedule

D. feel energetic and perform adequately

Passage Two

“There is a senseless notion that children grow up and leave home when they’re 18,

and the truth is far from that,” says sociologist Larry Bumpass of the University of Wis-

consin. Today, unexpected numbers of young adults are living with their parents. “There
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is a major shift in the middle class,” declares sociologist Allan Schnaiberg of Northwestern
University, whose son, 19, moved back in after an absence of eight months.

Analysts cite a variety of reasons for this return to the nest. The marriage age is ris-
ing, a condition that makes home and its pleasantness particularly attractive to young peo-
ple. A high divorce rate, and a declining remarriage rate are sending economically pressed
and emotionally hurt survivors back to parental shelters. For some, the expehse of an a-
way-from-home college education has become so excessively great that many students now
attend local schools. Even after graduation, young people find their wings clipped by sky-
rocketing housing costs.

Living at home, says Knighton, a school teacher, continues to give her security and
moral support. Her mother agreed, “It’s ridiculous for the kids to pay all that money for
rent. It makes sense for kids to stay at home. ” But sharing the family home requires ad-
justments for all. There are hassles over bathrooms, telephones and privacy. Some fami-
lies, however, manage the delicate balancing act. But for others, it proves too difficult.
Michelle Del Turco, 24, has been home three times — and left three times. “What I con-
sidered a social drink, my dad considered an alcohol problem,” she explains. “He never
liked anyone I dated (£§£), so I either had to hide away or meet them at friends’
houses. ”

Just how long should adult children live with their parents before movmg on? Most
psychologists feel lengthy homecomings are a mistake. Children, strugglmg to estabhsh
separate identities, can end up with “a sense of inadequacy defeat and failure. ” And aging
parents, who should be enjoying some financial and personal freedom, find themselves

stuck with responsibilities. Many agree that brief visits, however, can work benef1c1ally.’

36. According to the author, there was once a trend in the US
A. for young adults to leave their parents and live independently
B. for middle class young adults to stay with their parents
C. for married young adults to move back home after a lengthy absence

D. for young adults to get jobs nearby in order to live with their parents

37. Which of the following does not account for young adults returning to the nest?
A. Young adults find housing costs too high. ’
B. Young adults are psychologically and intellectually immature,
C. Young adults seek parental comfort and moral support.

D. Quite a number of young adults attend local schools.

38. One of the disadvantages of young adults returning to stay with their parents is that

A. there will inevitably be inconveniences in everyday life
B. most parents find it difficult to keep a bigger family going
C. the young adults tend to be overprotected by their parents



D. public opinion is against young adults staying with their parents

39. The word “hassles” in the passage (Paragraph 3, Line 4) probably means

A. agreements B. disadvantages C. worries D. quarrels

40. According to the passage what is the best for both parents and children?
A. They should adjust themselves to sharing the family expenses.
B. Children should leave their parents when they are grown up.
C. Adult children should visit their parents from time to time.
D. Parents should support their adult children when they are in trouble.

Passage Three

“High tech” and “state of the art” are two expressions that describe very modern
technology. High tech is just a shorter way of saying high technology, and high technolo-
gy describes any invention, system or device that uses the newest ideas or discoveries of
science and engineering. ‘

What is high tech? A computer is high tech. So is a communications satellite. A mod-
ern manufacturing system is surely high tech. |

High tech became a popular expression in the United States during the early 1980 s.
Because of improvements in technology, people could buy many new kinds of products in
American stores, such as home computer, micro-wave ovens, etc.

“State of the art” is something that is as modern as possible. It is a product that is
based on the very latest methods and technology. Something that is “ state of the art” is
the newest possible design or product of a business or industry. A state of the art televi-
sion set, for example, uses the most modern electronic design and parts. Itis the best that
one can buy.

“State of the art” is not a new expression. Engineers have used it for years to describe
the best and most modern way of doing something. ‘

Millions of Americans began to use the expression in the late 1970’s. The reason was
the computer revolution.

Every computer company claimed that its computers were “state of the art. ”

Computer technology changed so fast that a state of the art computer today might be old to-
morrow. The expression “state of the art” became as common and popular as computers them-
selves. Now all kinds of products are said to be “state of the art.”

41. What is the purpose of the passage?
A. To tell how “high tech” and “state of the art” have developed.
B. To give examples of high tech.
C. To tell what “high tech” and “state of the art” are.
D. To describe very modern technology.

42. What can we infer from the passage?
« 8§ o



A. American stores could provide new kinds of products to people.
B. High tech describes a technology that is not traditional.

C. “State of the art” is not as popular as “high tech”.

D. A wooden plough pulled by oxen is “state of the art”.

43. All the following examples are high tech EXCEPT
A. a micro-wave oven B. a home computer
C. a hand pump D. a satellite '

44. Which of the following statements is NOT true?
A. Since the computer revolution, the expression “state of the art” has become popular.
B. “State of the art” means something that is the best one can buy.
C. With the rapid development of computer technology, a state of the art computer
may easily become out of date.

D. All kinds of products are “state of the art” nowadays.

45. The best title for the passage is . :
A. Computer Technology B. High Tech and State of the Art

C. Most Advanced Technology D. Two New Expressions
Passage Four

As a boy, Sanders was much influenced by books about the sea, but in fact by the age
of fifteen he had decided to become a doctor rather than a sailor. His father was a dentist
and as a result Sanders had the opportunity of meeting doctors socially. When he was four-
teen he was already hanging around the dispensary of the local doctor where he was sup-
posed to be helping to wrap up medicine bottles, but was actually trying to listen to the
conversations with patients taking place in the next room.

During the war Sanders served in the Navy as a surgeon. “That was the happiest time
of my life, doing major surgery. I was dealing with very real suffering and on the whole
making a success of it.” In Rhodes he taught the country people simple facts about medi-
cine. He saw himself as a life-saver. He had proved his skill to himself and his ability to
take decisions. With this proof came the firm belief that those who lived simply, those
who were dependent upon him, possessed qualities and a secret of living which he lacked.
Thus, whilst in a position to tell them what to do, he could feel he was serving them.

After the war, he married and chose a practice deep in the English countryside, work-
ing under an old doctor who was much liked in the district, but who hated the sight of
blood and believed that the secret of medicine was faith. This gave the younger man plenty

of opportunity to go on working as a life-saver.

46. When he was a small boy, Sanders wanted to be a

A. writer of books about the sea B. sailor



C. dentist like his father D. doctor

47. As Sanders grew up
A. the doctors he met were very friendly
B. he met doctors with strong political opinions
C. the doctors he met ran social services

D. he was often in the company of doctors

48. His experience in the Navy taught him that
A. surgeons had the happiest lives
B. he was good at relieving those in pain
C. surgeons on ships could be very successful

D. he was successful at making people suffer

49. When Sanders was working in Rhodes during the war, he
A. discovered the virtue of a simple life
B. wanted to live like a countryman
C. wanted to be able to take decisions

D. taught life-saving to his patients

50. After the war, he
A. married an older doctor working in a country town
B. chose a junior partner who was very popular
C. decided to marry someone living deep in the country

D. joined an old country doctor who needed someone to help him

Passage Five

The heritage of English law brought with it the seeds of American liberty not the flower and
the fruit, which were to be produced after long labor and painful struggle. Nevertheless, the
seeds were there and they sprouted, took root, and have continued to grow. :

To this extent, the inheritance was valuable, but it is not to be denied that even
though English law gave us the seeds of liberty, it also inflicted upon us a vast amount ‘of
useless lumber (FFIZeH)) that we have not swept away entirely after three hundred years
of unremitting CREALEY) effort. ’

Even the system of trial by jury,’ in spite of its enormous value, came to us with bur-
densome, outworn ideas and unnecessary precautions, on one hand, and with no adequate
means of adaptation to changing conditions, on the other. '

For one thing, in the early days it was assumed that ignorance of the facts was a guar-
antee of a juror’s impartiality. At that time, when means of communication were few and
slow, there was something to be said for the idea; but today, when literacy is almost uni-
versal and means of communication abundant and almost instantaneous, ignorance of the

facts is evidence, not of impartiality, but of extraordinary stupidity, or of extraordinary
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indifference, neither of which is a proof that a juror is, in fact, a peer of the man on trial.

The rule that a juror must be ignorant of the facts is, therefore, a rule that operates
against, not for, the effort to fill the jury box (F&®# %) with honest men of ordinary intel-
ligence. It has become so hopeless, indeed, that the courts literally ceased long ago trying

to enforce it. It is, nevertheless, still a theoretical part of the system.

51. The author says that “the seeds of American liberty” (Para. 1, Line 1) were
A. imbedded in English law
B. produced only through hard work by Americans
C. uprooted by the painful struggle

D. none of these

52. The author says that the inheritance of English law brought with it
A. procedures and systems which have hopelessly confounded (f#{B#L) our legal in-
stitutions
B. perfection in lawmaking

C. some procedures and systems which were not perfect
D. both A and C

53. According to the passage, ignorance of the facts on the part of a juror today is evidence
of
A. impartiality B. stupidity or indifference

C. a bias D. a strong sense of justice

54. This selection is mainly about
A. the seeds of American liberty
B. general weaknesses in English law
C. the complete inefficiency of trial by jury

D. a notable theoretical weakness in the jury system

55. It is implied but not stated that
A. today literacy is almost universal

we should rid ourselves completely of all inherited legal concepts

o8

changing conditions in our legal system call for more flexible rules

o o

“what is good enough for my father is good enough for me”

Part [V Cloze (10 minutes, 10 points, 1 for each)

Directions: In this part, there is a passage with 10 blanks. For each blank there are 4
choices marked A, B, Cand D. Choose the best answer for each blank and mark the corre-
sponding letter with a single line across the sduare brackets on your machine-scoring AN-

SWER SHEET.
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We are concerned with consumer demand created by the final purchaser of goods. In
addition to 56  demand, businesses have demand for resources and products. These de-
mands are called derived demands; that is, they are derived from or 57  consumer de-
mand. In order to produce a product for the consumer, a businessman demands things.
For example, he may 58 land labor, buildings, machinery, raw materials, transporta-
tion services, communication services, semi-finished goods. Such demands are “derived”.
No manufacturer 59 hire labor, buy raw materials, open a plant and set up equipment

60 he thinks he can sell the products he makes.

Ultimately, all the production has as its goal the satisfaction of final demand. Most of
the 61 demand is consumer demand. 62 governments (national, state and local)
also have final demands for products.

Much production is undertaken 63 another business demands the products. Steel,
for example, is demanded by manufacturers 64  the products of automobiles. Consum-
ers buy little if any, steel.

But it is the consumers’ demand for such things as automobiles that creates the
producers’ demand for steel. This demand _ 65 _ creates a demand for pig iron, limestone
and other raw materials needed to make steel. All these demands are derived from the de-

mand created by the ultimate purchasers of final products.

56. A. producer B. manager C. human D. consumer
57. A. reflect B. reflects C. reflecting D. reflected
58. A. ask B. search C. seek D. demand
59. A. shall B. will C. can D. must

60. A. unless B. till C. until D. when

61. A. initial B. original C. reasonable D. final

62. A. Anyway B. However C. Moreover D. Therefore
63. A. because B. until C. unless D. for

64. A. as such B. so as C. like D. such as
65. A. by turns B. in turn C. by turn D. in turns

Part V Error Detection (10 minutes, 10 points, 1 for each)

Directions: In this section, there are 10 sentences. Each sentence has 4 underlined words
or phrases marked A, B, Cand D. Identify the underlined one that must be changed in
order for the sentence to be correct. Mark the corres ponding letter with a single line across

the square brackets on your machine-scoring ANSWER SHEET.

66. A creative person will be emotionally receptive to new and unconventional ideas and
B

A
will be least interested in facts than in their implications.
C D
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